NFAT Prep India (NPI)

SESErSR iy BBA-MBA INTEGRATED
MOCK-10

GENERAL KNOWLEDGE

1. Which country recently launched the world's first Al-based
news anchor?
a) China
b) South Korea
c) USA
d) Japan

2. Who is the current President of the United Nations General
Assembly (as of 2025)?
a) Csaba Korosi
b) Dennis Francis
c) Antonio Guterres
d) Volkan Bozkir

3. Which Indian city topped the Swachh Survekshan rankings
20247
a) Surat
b) Indore
c) Mysuru
d) Navi Mumbai

4. Which nation assumed the G20 Presidency before India in
20227
a) Indonesia
b) Brazil
c) Germany
d) South Africa
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wareepingia, 5. Which Indian state recently launched 'Mukhyamantri Gram
Sadak Yojana'?
a) Madhya Pradesh
b) Bihar
c) Rajasthan
d) Jharkhand

6. World Environment Day is celebrated on:
a) June 1
b) June 5
c) July 5
d) April 22

7. Which day is observed as National Voters' Day in India?
a) January 25
b) January 26
c) March 15
d) July 1

8. World Water Day is celebrated on:
a) March 22
b) March 20
c) April 5
d) May 15

9. International Day of Yoga is observed on:
a) July 21
b) May 21
c) June 21
d) April 21

10. National Science Day is celebrated in India on:
a) February 28
b) January 28
c) March 2
d) April 5

=N https:/ /nfatprepindia.com/ Mob. No. 8696341134
- Q) E .




NFAT Prep India (NPI)

wERtREE, ] 1. Who was the founder of the Maurya Empire?
a) Chandragupta I

b) Ashoka

c) Chandragupta Maurya

d) Bindusara

12. The Non-Cooperation Movement was launched in:
a) 1919
b) 1920
c) 1930
d) 1942

13. The Battle of Plassey was fought in:
a) 1757
b) 1764
c) 1857
d) 1707

14. Who gave the slogan "Do or Die"?
a) Jawaharlal Nehru
b) Mahatma Gandhi
c) Subhas Chandra Bose
d) Sardar Patel

15. Who wrote 'Discovery of India'?
a) S. Radhakrishnan
b) Jawaharlal Nehru
c) M.K. Gandhi
d) B.R. Ambedkar

16. Who is the author of 'The Silent Patient'?
a) Alex Michaelides
b) Dan Brown
c) Gillian Flynn
d) Jeffrey Archer
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WAL, 17 . 'Wings of Fire' is the autobiography of:
a) Ratan Tata
b) Dr. A.P.J. Abdul Kalam
c) Dr. Vikram Sarabhai
d) Homi Bhabha

18. Who wrote 'The Ministry of Utmost Happiness'?
a) Salman Rushdie
b) Jhumpa Lahiri
c) Arundhati Roy
d) Chetan Bhagat

19. ‘A Promised Land’ is a memoir by:
a) Bill Clinton
b) Barack Obama
c) Joe Biden
d) Kamala Harris

20. Who wrote 'India After Gandhi'?
a) Shashi Tharoor
b) Romila Thapar
c) Ramachandra Guha
d) Irfan Habib
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MEATFIRD IS LOGICAL REASONING AND APTITUDE
Question 21: Find the next term in the series: AMB, CLB, BKC, DJC,

Options:
« A.EID
« B.CJD
« C.EIF
« D.EJF
« E.CID

Question 22: Find the next term in the series: ZCF, YBE, XAD,
WZC,

Options:
« A.VUY
« B.VYB
« C.VYU
« D.YUV
« E.YVU

Question 23: Find the next term in the series: SCD, TEF, UGH, ,
WKL

Options:
e A.IJT
« B.VIJ
« C.CMN
« D. UJI
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warree@Question 24: The ‘A’ state government has chalked out a plan for the
underdeveloped ‘B’ district, where 66% of the funds will be placed in
the hands of a committee of local representatives. Courses of action:
I. The ‘A’ state government should decide guidelines and norms for the
functioning of the committee.

II. Other state governments may follow similar plans if directed by the
Central government.
Options:

o A. If only I follows

o B. If only II follows

o C. If either I or II follows

o D. If neither I nor II follows

« E. If both I and II follow

Question 25: The car dealer found a tremendous response for the new
XYZ’s car booking, with long queues of people complaining about the
duration of business hours and arrangements. Courses of action:

I. People should make their arrangement of lunch and snacks while
going for car XYZ’s booking and be ready to spend several hours.

II. Arrangement should be made for more booking desks and increase
business hours to serve more people in less time.

Options:

o A.If only I follows

o B. If only II follows

e C. If either I or II follows

e D. If neither I nor II follows

e E. If bothI and II follow
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Question 26: The ‘M’ state government has decided hence forth to
award the road construction contracts through open tenders only.
Courses of action:

I. The ‘M’ state will not be able to get the work done swiftly as it will
have to go through tender and other procedures.

II. Hence forth the quality of roads constructed may be far better.
Options:

o A.If only I follows

o B. If only II follows

o C. If either I or II follows

o D. If neither I nor II follows

« E. If both I and II follow

Question 27: CUP : LIP :: BIRD :
Options:

« A. GRASS
« B. FOREST
« C.BEAK

- D. BUSH

Question 28: Paw : Cat :: Hoof :
Options:

. A Lamb
« B. Horse
o C. Elephant

o D. Tiger
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warree@Question 29: Safe : Secure :: Protect :

Options:
e A.Lock
« B. Guard
o« C. Sure

e D. Conserve

Question 30: Statement: The old order changed yielding place to new.
Conclusions:

1. Change is the law of nature.

2. Discard old ideas because they are old.
Options:

o A. Only conclusion I follows
« B. Only conclusion II follows
o C. Either I or II follows

o D. Neither I nor II follows

o E. Both I and II follow
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warree@uestion 31: Statement: Government has spoiled many top-ranking
financial institutions by appointing bureaucrats as Directors of these
institutions.
Conclusions:

1. Government should appoint Directors of the financial institutes
taking into consideration the expertise of the person in the area
of finance.

2. The Director of the financial institute should have expertise
commensurate with the financial work carried out by the
institute.

Options:

e A. Only conclusion I follows
o B. Only conclusion II follows
o C. Either I or II follows

o D. Neither I nor II follows

« E. Both I and II follow

Question 32: Statement: Prime age school-going children in urban
India have now become avid as well as more regular viewers of
television, even in households without a TV. As a result, there has
been an alarming decline in the extent of readership of newspapers.
Conclusions:

1. Method of increasing the readership of newspapers should be
devised.

2. A team of experts should be sent to other countries to study the
impact of TV on the readership of newspapers.
Options:

e A. Only conclusion I follows
o B. Only conclusion II follows
o C. Either I or II follows

o D. Neither I nor II follows

o E. Both I and II follow
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warree@Question33: Look at this series: 12, 11, 13, 12, 14, 13, ... What
number should come next?
Options:

« A. 10
« B. 16
« C. 13
« D. 15

Question 34: Look at this series: 36, 34, 30, 28, 24, ... What number
should come next?
Options:

o« A.22
« B.26
« C.23
« D.20

Question 35: Look at this series: 7, 10, 8, 11, 9, 12, ... What number
should come next?

Options:
e A7
« B. 12
« C. 10
« D. 13

Question 36: Which word does NOT belong with the others?
Options:

o A.index
o B. glossary
o C. chapter
o D. book
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Question 37: Which word is the odd man out?
Options:

e A. trivial
o B. unimportant
o C. important

o D. insignificant

Question 38: Which word does NOT belong with the others?

Options:
o« A.wing
o B. fin
o C. beak
o D. rudder

Question 39: A family consists of six members: Priya, Qureshi, Raj,
Xavi, Yusuf, and Zain. Priya is the mother of Raj and Zain. Qureshi is
the father of Xavi and Yusuf. Raj is the brother of Zain, and Xavi is the
sister of Yusuf. How many children does Priya have?

Options:
e A.One
« B.Two
o C. Three
« D. None
« E. Four
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warreei@uestion 40: In a certain code language, ‘ANIMALS’ is written as
‘SLAMINA’. How is ‘ONLINE’ written?
Options:

« A. ENILNO
« B. OLINEN
« C. LNOINE
« D. NNLOIE
« E. EINONL
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WERTTSE R Mathematical Reasoning And Data Interpretation

Q41. A does 80% of a work in 20 days. He then calls in B and they
together finish the remaining work in 3 days. How long B alone would
take to do the whole work?

A. 23 days
B. 37 days
C. 37 2 days
D. 40 days

Q42. A can do a certain work in the same time in which B and C
together can do it. If A and B together could do it in 10 days and C
alone in 50 days, then B alone could do it in:

A. 15 days
B. 20 days
C. 25 days
D. 30 days

Q43.1f 6 men and 8 boys can do a piece of work in 10 days while 26
men and 48 boys can do the same in 2 days, the time taken by 15
men and 20 boys in doing the same type of work will be:

A. 4 days
B. 5 days
C. 6 days
D. 7 days
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warreei@4.4 The selling price of a product is fixed to ensure 40% profit. If the
product had cost 40% less and had been sold for 5 rupees less, then
the resulting profit would have been 50%. The original selling price, in
rupees, of the product is

A. 15
B. 14
C. 10
D. 20

Q45. After two successive increments, Gopal's salary became 187.5%
of his initial salary. If the percentage of salary increase in the second
increment was twice of that in the first increment, then the percentage
of salary increase in the first increment was

A. 30
B. 27.5
C. 25
D. 20

Q46. Q8: A dealer wants to mark the price of an article such that by
offering a 5 % discount, he is able to get 33 % profit. Find the percent
of CP above which the article should be marked.

A. 39%
B. 20%
C. 15%
D. 40%
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wateeei@47. A person is walking at a speed of 5 km/hr along a railway track.
If he is 200 m ahead of the train which is 100 m long and runs at a
speed of 60 km/hr in same direction, then what is the time required to
pass the person?

a. 19.64 sec
b. 15.19 sec
c. 3.2 min

d. 5 min

Q48. A passenger train of 200 m runs at a speed of 55 km/hr. A
person traveling in it observes that the goods train moving in opposite
direction takes 10 seconds to cross him. Find the speed of the goods
train, if it is 250 m long.

a. 30.23 km/hr
b. 29.73 km/hr
c.42.11 km/hr
d. 55 km/hr

Q49. The salaries A, B, C are in the ratio 2 : 3 : 5. If the increments of
15%, 10% and 20% are allowed

respectively in their salaries, then what will be new ratio of their

salaries?
A 3:3:10
B10:11:20
C23:33:60

D Cannot be determined
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wareeei@H0. If 40% of a number is equal to two-third of another number,
what is the ratio of first number to the second number?

A 2:5
B 3:7
C 5:3
D 7:3

Q51. Look at this series: 8, 6, 9, 23, 87 , .What number should come
next?

Al128

B 226
C 324
D 429

Q52. In a bag, there are coins of 25 p, 10 p and S p in the ratio of 1 : 2
: 3. If there is Rs. 30 in all, how many 5 p coins are there?

A 50

B 100
C 150
D 200
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wareeei@H 3. The ratio of A's salary to B's was 4 : 5. A's salary is increased by
10% and B's by 2096, what is the ratio of

their salaries now?
A. 14:11

B. 15:14

c. 11:15

D. None of these

Q54. Q8. A man said to his son, "l was one-third of your present age
when you were born". If the present age of the man is 48 years, find
the present age of the son.

A. 25.7 years
C. 29.3 years
B. 28 years
D. 36 years

Q55. The ratio of Sara's age 4 years ago and Vaishali's age after 4
years is 1: 1. Presently, the ratio of their ages is 5:3. Find the ratio
between Sara's age 4 years hence and Vaishali's age 4 years ago.

A. 1:3
B. 3:1
C. 43
D. 3:4
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warreei@H6. 3.6 children are born, each at an interval of 1.5 years. On adding
the ages of all the 6 children, we get the sum as 60. How old is the
youngest child?

A7

B. 8.5
C. 6.25
D. 5

Q357 Q.4. A man sells a TV set for Rs. 4,800 and makes a profit of 20
%. He sells another TV at a loss of 16 %. If on the whole, he neither
gains nor loses, find the selling price of the second TV set.

A. Rs. 3,800
D. Rs. 4,600
B. Rs. 4,400
C. Rs. 4,200

Q358. Q.5. Parveen bought 80 kg of rice for Rs. 760 and sold it at a loss
of as much money as he received for 15kg rice. At which price did he
sell the rice?

A.Rs. 9 / kg
D. Rs. 10/ kg
B. Rs. 8/ kg
C.Rs. 8.5/ kg
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warreei@59. A can finish a work in 24 days, B in 9 days and C in 12 days. B
and C start the work but are forced to leave after 3 days. The
remaining work was done by A in:

A 5 days

B 6 days

C 10 days

D 10 ‘2 days

Q60. A and B can do a job together in 7 days. A is 1— times as
efficient as B. The same job can be

done by A alone in :
A91/3

B 11 days

C 12 Y4 days

D 16 1/3 days

A" 4
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NFATPrepindi Information And Communication Technology

Q61. What does the term 'booting' refer to in computers?
A) Formatting the hard disk

B) Restarting the computer

C) Loading the operating system

D) Shutting down the computer

Q62. Which of the following represents the correct order of data
hierarchy?

A) Character — Field — Record — File

B) File — Record — Field — Character

C) Record — Field — Character — File

D) Character — Record — Field — File

Q63. What is the main function of an operating system?
A) Virus detection

B) Managing hardware and software

C) Editing text files

D) Creating spreadsheets

Q64. Which of the following is a non-impact printer?
A) Dot matrix

B) Daisy wheel

C) Inkjet

D) Line printer

Q65. Which of the following is a storage device?
A) Mouse

B) Keyboard

C) Monitor

D) Pen drive
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waTree@66. The term “blog” is derived from:
A) Web-log
B) Binary-log
C) Back-log
D) Data-log

Q67. HTML is used for:

A) Programming mobile apps
B) Creating web pages

C) Editing photos

D) Managing databases

Q68. GUI stands for:

A) General User Interaction

B) Graphical User Interface

C) Guided User Interconnect

D) Graphical Universal Interface

Q69. VoIP technology is used for:
A) Online payments

B) File transfers

C) Voice calls over the Internet
D) Software installation

Q70. USB is a type of:

A) Display device

B) Storage unit

C) Interface for peripheral devices
D) Software

Q71. Which of the following is not an example of open-source
software?

A) Ubuntu

B) Linux

C) Windows

D) Mozilla Firefox
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warreei @7 2. The full form of Wi-Fi is:
A) Wireless Fidelity
B) Wide Frequency
C) Wired Filter
D) Wireless Firewall

Q73. POP3 is used for:
A) Sending emails

B) Storing documents
C) Receiving emails

D) Managing files

Q74. The 'Bec' field in an email is used when:

A) You want to track the recipient

B) You want to send without revealing other recipients
C) You want to send a backup copy

D) You are sending an encrypted file

Q75. What is phishing in terms of cybersecurity?
A) Enhancing download speed

B) Sending spam emails

C) Fraudulent attempt to obtain sensitive info

D) Slowing down server connections

Q76. One advantage of video conferencing in education is:
A) No student feedback

B) Lack of teacher control

C) Interactive distance learning

D) Expensive infrastructure

Q77. NAD (National Academic Depository) stores:
A) Research journals

B) Health records

C) Academic certificates digitally

D) Online lectures
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v @7 8. e-PG Pathshala is an initiative of:
A) UGC
B) CBSE
C) NCERT
D) NITI Aayog

Q79. Which Indian digital initiative is used for teacher training?
A) DIKSHA

B) UMANG

C) DigiLocker

D) SWAN

Q80. SWAYAM stands for:

A) Self-Writing Academic Yearly App Module

B) Study Webs of Active-Learning for Young Aspiring Minds
C) Students’ Way of Academic Management

D) Smart Web Automated Learning Mechanism
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NFAT Prep Indiq Communication

Q81. Which of the following is not an essential element of the
communication process?

A) Sender

B) Feedback

C) Equipment

D) Message

Q82. Which of these best describes the "Transactional Model" of
communication?

A) A one-way flow of information

B) Simultaneous sending and receiving

C) Feedback after long delay

D) Use of mass media

Q83. Which of these is not a communication type based on flow?
A) Upward

B) Outward

C) Downward

D) Horizontal

Q84. Which of the following is a formal communication type?
A) Grapevine

B) Bulletin board

C) Rumor

D) Casual talk
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v @85. Which communication model introduced the concept of “noise”?
A) Schramm Model
B) Shannon-Weaver Model
C) Berlo’s SMCR
D) Aristotle Model

Q86. Chronemics is the study of:
A) Body language

B) Use of space

C) Use of time in communication
D) Tone and pitch

Q87. Which of the following is an example of diagonal
communication?

A) CEO to marketing manager

B) Team member to team leader

C) HR to IT support staff

D) Receptionist to security guard

Q88. In communication, the “context” refers to:
A) Type of receiver

B) Physical and social setting

C) Encoding process

D) Grammar usage

Q89. Effective communication in leadership mainly depends on:
A) Status and authority

B) Clarity and persuasion

C) Formal tone

D) Avoiding emotional expression
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warree@90. In terms of communication, assertiveness is:
A) Rude and aggressive
B) Passive and silent
C) Confident and respectful expression
D) Avoidance of eye contact

Q91. Which of these is an example of para-verbal communication?
A) Posture

B) Word choice

C) Tone and pitch

D) Facial expression

Q92. Silence in communication can represent:
A) Disinterest only

B) Agreement or disagreement

C) Only confusion

D) Just listening

Q93. Which of these is not a type of non-verbal communication?
A) Proxemics

B) Paralanguage

C) Semantics

D) Gestures

Q94. Artifacts in non-verbal communication refer to:
A) Historical items

B) Personal objects and appearance

C) Written documents

D) Old newspapers
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warree@95. Non-verbal communication is important because it:
A) Confuses the message
B) Adds emotional depth and clarity
C) Replaces verbal communication
D) Is optional

Q96. The term "high-context culture" refers to a culture that:
A) Uses straightforward communication

B) Depends heavily on spoken words

C) Relies on implicit messages and context

D) Uses only written communication

Q97. In intercultural communication, ethnocentrism refers to:
A) Viewing other cultures as equal

B) Respecting diversity

C) Believing one's own culture is superior

D) Cultural humility

Q98. Groupthink in communication can lead to:
A) Independent opinions

B) Creative thinking

C) Suppression of dissent

D) Healthy debate

Q99. Which is a key component of intercultural competence?
A) Speaking multiple languages

B) Cultural superiority

C) Tolerance and adaptability

D) Avoiding eye contact
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wareeei @1 00. Perceptual barrier in communication arises due to:
A) Network failure

B) Differences in understanding and viewpoint
C) Grammar mistakes

D) Message encoding errors
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1
2
3
4
5.
6
7
8
9

NFATPIOPI' GENERAL KNOWLEDGE
. a) China

b) Dennis Francis

. b) Indore

. a) Indonesia

c) Rajasthan

. b)June 5

. a) January 25
. a) March 22

. ¢)June 21

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

a) February 28

c) Chandragupta Maurya
b) 1920

a) 1757

b) Mahatma Gandhi

b) Jawaharlal Nehru

a) Alex Michaelides

b) Dr. A.P.J. Abdul Kalam
c) Arundhati Roy

b) Barack Obama

c) Ramachandra Guha
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21.
22.

23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.

LOGICAL REASONING AND APTITUDE

D
A
B
A
B
D
C
B
B
A
E
A
D
A.
C.
D
C
C
B.
A
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. VUY

. VIJ

. If only I follows

. If only II follows

. If neither I nor II follows
. BEAK

. Horse

. Guard

. Only conclusion I follows
. Both I and II follow

. Only conclusion I follows

. 15

22
10

. book
. important

. beak
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el MATHEMATICAL REASONING AND DATA INTERPRETATION

41. C. 37% days

42. C. 25 days

43. A. 4 days

44. B. 14

45. C. 25

46. D. 40%

47. A. 19.64 sec

48. B. 29.73 km/hr

49. C. 23:33:60

50. C. 5:3

51. D. 429

52. C. 150

53. C.11:15

54. D. 36 years

55. B. 3:1

56. C. 6.25

57. C. Rs. 4,200

S58. B. Rs. 8/kg

59. C. 10 days

60. B. 11 days

8
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* ' INFORMATION AND COMMUNICATION TECHNOLOGY

ol. C) Loading the operating system

62. A) Character — Field — Record — File

63. B) Managing hardware and software

64. C) Inkjet

65. D) Pen drive

66. A) Web-log

67. B) Creating web pages

68. B) Graphical User Interface

69. C) Voice calls over the Internet

70. C) Interface for peripheral devices

71. C) Windows

72. A) Wireless Fidelity

73. C) Receiving emails

74. B) You want to send without revealing other recipients

75. C) Fraudulent attempt to obtain sensitive info

76. C) Interactive distance learning

77. C) Academic certificates digitally

78. A) UGC

79. A) DIKSHA

80. B) Study Webs of Active-Learning for Young Aspiring
Minds
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WA ). COMMUNICATION

81. C) Equipment

82. B) Simultaneous sending and receiving

83. B) Outward

84. B) Bulletin board

85. B) Shannon-Weaver Model

86. C) Use of time in communication

87. C) HR to IT support staff

88. B) Physical and social setting

89. B) Clarity and persuasion

90. C) Confident and respectful expression

91. C) Tone and pitch

92. B) Agreement or disagreement

93. C) Semantics

94. B) Personal objects and appearance

95. B) Adds emotional depth and clarity

96. C) Relies on implicit messages and context

97. C) Believing one's own culture is superior

98. C) Suppression of dissent

99. C) Tolerance and adaptability

100. B) Differences in understanding and viewpoint
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